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7 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 4.74 59.08 | =nLs | 0.00 ~ 0.00) 1.66 841 st 1.00 | 6.00 ~ 5.00 59.08 | =nLS | 6.00 ~ 6.00| 1.66 841
2 100kN/mi%E#2% | 1.00|0.00 ~ 0.99 114.92 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 10.72 ~ 1400| 11492 |3m%E#Z5 - ~ — — —
s 1.00 | 099 ~ 878 100.00 | #nst | 000 ~ 878|210 10.59 st 1.00 | .00 ~ 1072 100.00 | =nst | 5.00 ~ 1400)| 2.10 10.59
3 100kN/mi%E#2% | 1.00|0.00 ~ 0.99 114.93 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 10.72 ~ 1400| 114.93 |3m%E#Z5 - ~ — — —
s 1.00 | 099 ~ 878 100.00 | #nlst | 000 ~ 878|210 10.60 st 1.00 | 6.00 ~ 1072 100.00 | =nst | 6.00 ~ 1400)| 2.10 10.60
4 100kN/mM#E#BZ5 | 1.00 | 000 ~ 230 135.91 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 10563 ~ 2000| 13591 |3m&E#25 - ~ — — —
s 1.00 | 230 ~ 1009 100.00 | =nhst | 0oo ~ 1009| 2.70 13.66 st 1.00 | 6.00 ~ 1053 100.00 | =nst | 5.00 ~ 2000 2.70 13.66
5 100kN/m##Bx5 | 1.00 | 0.00 ~ 281 144.39 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 11.05 ~ 2400| 14439 |3mE#Z5 - ~ — — —
s 1.00 | 281 ~ 1059 100.00 | #nlst | 0.00 ~ 1059 2.92 14.756 st 1.00 | 6.00 ~ 1105 100.00 | =nst | 5.00 ~ 2400 2.92 14.756
P 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 755 96.58 | =nLS | 0.00 ~ 755 2.44 12.31 st 1.00 | .00 ~ 1100 96.58 | =hLS | 5,00 ~ 11.00| 2.44 12.31
- 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 5.68 70.95 | ThS | 0oo ~ 568|219 11.08 st 1.00 | 6.00 ~ 9.00 70.95 | TS | 6,00 ~ 9.00| 219 11.08
P 100kN/mM%E#BZ 5 — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZS - ~ — — —
s 1.00 | 0.00 ~ 397 49.83 | FnLSY | 000 ~ 397|208 10.52 st 1.00 | 6.00 ~ 5.00 49.83 | =hLS | 5.00 ~ 6.00 | 2.08 10.52
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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